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OPTION-A
( Macroeconomics )
Paper : COM-HG-2016

- 1. Answer any ten of the following questions:
1x10=10
were Al SRR RicEiear w2br9 Bl A 8

(a) What is meant by ‘circular flow of
income’? -

‘Wwﬁﬂam?{’ﬂmﬁs?

(b) What do you mean by effective
demand ?

ﬂ@asﬁm?{%ﬁ%q@‘»

(c) What is static economic analysis ?

2R widtafor Rovgd e

(d)‘ What is meant by aggregate demand ?
A sifgw W e

() Draw a long-run aggregate supply
curve. ' '

TS MNas @9 @ GUie ST I |

4 (Sem-2/CBCS| HG 1/2 (MAE/IRM)/G ~ 2



BIKALI COLLEGE LIBRARY

(f/ What does a vertical IS curve mean ?

QT Tq IS @R T genne

(g) State the condition of equilibrium in
the money market.

U ISR SRARTOR 5O S T4 |

(h) A contractionary fiscal policy is anti-
inflationary/anti-recessionary/neutral. .
(Choose the correct answer)

FCHOALTE G NS qmﬁ%—ﬁma)m—
R/ s =201 (va Geweb! 17 33)

(i) Define frictional unemployment.
. qHETs [Weaie Jigesl A |

() What is meant by sacrifice ratio?
wis-SEite et & game

(k) -What 1s meant by open economy ?
o s a7 WE & g@ae

(1) Define Iexchange. rate.

RfFTa g e ot |
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(m) According to Keynes, demand for money

arises out of _ motives.

(Fill in the blank)
(F37R A0S, T 5Ifzml SfS2ATT 214
T 2 | (T 212 979 39)

(n) What do you mean by liquidity
preference ?

orEy e I & g@e

- (o) Name the economist who developed the
concept ‘liquidity preference’.

‘Oe) SIS’ YIFAICH! HoRCEIRA WLF ol S
=

2. Answer any five of the following questions:
2x5=10.

(a) What are the determinants of effective
- demand?

ara i e & 2
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(p) How is the LM cur_x}e derived from

money market ?

7 &S LM (RO (FEACE WiR9 T A ?

(c) Distinguish between demand-pull

inflation and cost-push inflation.

(d) What is Phillips curve ? Draw a Phillips

curve.

-

feferan @l &2 R @ GO S 4 |

(e) What is the natural_raté of

unemployment?
e arpfes ze R

() Distinguish between fixed exchange rate

and flexible exchange rate.

NLF el |
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(g9 What are the determinants of business
fixed investment, according to Keynes ?

@R Wre IS B Rfvcaer RdesTz
& &2

(h) What is liquidity trap? State the
relationship that ‘exists between .

liquidity preference and rate of interest.

OIe] T [F 2 Oy Ao i Fre T oo
Bl FT=HFo! B 4 |

3. Answer any four of the following quesﬁons g
5x4=20

oe [fal eNEI] Reeie sifsbr9 Oe] il s

(a) Discuss briefly the circular flow of:
income in a two sector economy.

Wol-deye GINIoS ST FE I eRiR HICP
HICAD 41 |

(b) What are the components of aggregate
demand function ?

Wmﬁmw@mﬁs%‘?
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(c) State the factors -that determine the
slope and position of the IS curve.

IS ([AMCER i WiE S Fasld <
ToAMTTTE SR 4 |

* (d) Explain the effect of cut in taxes on
the level of income, using the IS-LM
curves.

ow AfiRee 9 2R 9ok @ i@ IS-LM
@baT AT P T4 |

(e) Explain the trade-off between inflation
and unemployment.

WWWWWWW@
s ;

ot

(/) - Briefly discuss the demand-pull theory
of inflation.

sifznl edire @GS OG0! oI S
|

(g). Write brief notes on the different types
of -investment.

Rt fifen e Rae 53 Gt fra
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(h)

Explain the relationship -between
speculative demand for money and rate
of interest.

TUR TS HIRA S v I TS TP
IR 91 | '

4. Answer any four of the following questions :

10x4=40

were WAl Rigdicar oifdb) et Se] il ¢

(a)

(b)

State the conditions of equilibrium of
an economy. Explain the short-run
equilibrium of an economy using
aggregate demand and aggregate supply
approach. 2+8=10

oS WITE SRATOR FETIR BrEd T4 |

HANET SiTw wiE ANEE @6 STawe IS
TR IS 9IT TP ST G I |

Discuss the features of IS and LM
curves. Explain the determination of
equilibrium rate of interest and level of
income with the help of IS-LM curves.

4+6=10

uswm§1m4C@matﬂﬁ@wqiwmﬁmﬁnaanls
i< LNI(ﬁﬂﬁ'ﬁ@m“'wmwwm‘§$55Fi?m$
SIS Sy R i [0
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(c) How is the LM curve affected by the
change in the supply of money and the
.demand for money? Explain with a
diagram.

W (AN BNE TR GIRTR #iasa] 2@ LM
e e et 22 oag e P
F4i| i

(d) Explain the different measures to
control inflation. -

S e [fen SorenE i 41

(e) Discuss the effects of inflation on
- production and distribution.

Teolel oI ROIR @RS JUrFIed doie
@ e 1| |

(/ What is inflationary gap? Explain
inflationary gap with a diagram. How
can the inflationary gap be wiped out ?

' 2+5+3=10

I 9 | EFEIOT FF (P Sesi] A2
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(g9 How is the IS curve derived from goods
market in open economy ? Explain with
diagram. |
& Gt TE ITRS IS @A (TR
oizRe 91 22 oa AT G =

(h) Discuss the cash balance approach of
the quantity theory of money. How is it
superior to the transactions approach
of the quantity theory of money?
Explain. 6+4=10
AR AR ©g AW @EH TES S
34| THR ARG TG @@ Awo0ld 2

(FEWR BLFP 2 AT |

(i) Discuss Keynes’s reformulation of the
quantity theory of money. How is it
superior to the traditional quantity
theory of money ? 6+4=10

R AR o) @R o [WeiaR /fEw
SITEBA T | A=2RIrS @i AR 0GR ]
(R BFE 2

() Critically discuss Tobin’s portfolio
balance approach to demand for money.

FNCEABALS SCEAB SSRCGH |
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OPTION-B
(Insurance and Risk Management)
Paper : COM-HG-2026

1.  Answer any ten questions of the following
as directed : 1x10=10

TEl T4 3

(a) In which year Life Insurance
Corporation of India came into effect ?

OIed G- T {91 [F e Tife<t t2fee 2

(b) State whether the following statement
is True or False :

O} A T w@m [ Sem ol
Insurable risk can be predicted.

Ay Rem Skt o= S AR |

(c) Loss control involves identifying.
PAreTd W Hrgir e wite |
(i) Risk (Rew =)
(ii) Control (Fgz4)
(iti) Profit (371S)

(iv)] Market (IER) |
(Choose the correct alternative)

(% [eaCo!r A Tlensdr)
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(d) Write one example of Regulatory

(e)

Framework of Insurance.

T Faze_) i sioae @by Sniad &

State whether the following statement
is True or False :

o1 A9 S wF @ wom &3

Workers strike is an external risk.

FMHRIR o @t e [em siigst |

In which of the following years, Bombay .
Mutual Life Insurance Society started
its business in India?

@ 5O WS (2o 2

(i) 1870

Qo

(i) 1871

b

(i) 1872

SbraR

(iv) 1873

P99
(Choose the correct alternative)

(&7 Reerch] A1 Gevea)
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(g9 In which year was Insurance Act
passed ?

T =3 (@ v TR ] (=% 2

(h) State whether the followihg statement
is True or False : :

] A S oF @ Sew TR 8

Hull insurance is not concerned with
the insurance of ships.

TEIEE 91 T SRS T 570 TS FiR|

. (i) A serious and immediate danger is
called : '

G5 SRITHE SIS OeIleT Romd (I = 8

(i) Hazard
USSR ST

(i) Peril
L SRS
(iii) Loss

 (ETee
(iv) Risk

- Rom i

(Choose the correct alternative)

(&% [esCo! A6 Clersdr)
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() Write full form of IRDA.
IRDAR = Fieo1 et

(k) State whether the following statement
is True or False :
o A FP swm @ wom ol ¢

A life insurance policy is issued for five
years. : ’

<51 S Tl ~{H5 A5 T A SR S 2

() In which year the Malhotra Committee
was formed by Government of India to
study whether the insurance sector
should be opened for private player ?

OIS HIFIR e &S T[T A (O
Tioe T 727, W3 R SwW FREA qieegal
ST sion foa TR 2

() 1991 (5»d%)

(ii) 1992 (>ddR)

(i) 1993 (>559)

(iv) 1999 (S»d)
(Choose the correct alternative)

(5% [RFECh)r > Clasd) |
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(m) State whether the following statement

- 1s True or False :
o] I WF wFm 7 WeT ) 8

Insurance help businessman to
concentrate their attention on business.

TR IR T RETRI CFae SeIc
(FUTTO TS TR I |

(n) State whether the following statement
is True or False :

e A FiE wm @ Sew FA g

Insurance like fire and marine

insurance are contract of indemnity.

ST F T 7 AR o739 {is |

(o) State whether the following statement

is True or False :

oot A I wm @ Som s

Globalization has also caused

immigration numbers to rise.

IfZef A2 Jae (TR B TR |
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2.

Answer any five questions of the following

in about 50 words each : 2x5=10

O [P S5 2R ATORRCI AR @Ot W X

foote Ter 31 ¢ -

(a) Define risk.
Rom SR icwt ot |

(b) State the meaning of Hedging.
e = o

(c) What is meant by health insurance ?
Jrg I e [ gome

(d) Give the meaning of negligence.
SRR S e 1

(e) Deﬁne.Actuaries.
T FOR A |

(f/ What is surrender value of policies ?
7R s e e

(g) Write two features of IRDA.

IRDA-I 75y (If<gy &
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(h) What is meant by insurable interest?

Tncaey =it o e & gme

3. Answer any four qﬁestions of the following
in about 150 words each : Sx4=20

e eIl DI SR SO A SEobl Wi
*7q footo Tt I 3

(a) Briefly describe the different types of
risk.

fn e Ko St LT SICEsAl 39

(b) Write the difference between life
insurance and fire ‘insurance. '

@%@%mwwﬁ%mmﬁmmw'
T |

. () Mention five features of marine .
insurance.

TR Al W S I

(d) State any five functions of Actuaries in
life insurance.

S AN JoTITH TG [P o0 T
- fen o
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(e) Discuss briefly importance of risk .
management. ' |

R Izl ARBITHIR @G 5P b T |

() Highlight any five points of IRDA
Regulation, 2019. |

IRDA o=t 20193 Ricwrear =livo) a=
SEARFATS I |

(g9 Write any five differences between
re-insurance and co-insurance.

27T T S J& I Wers A RcpIeat 250!
1<y foral |

(h) State five objectives of insurance.

AR o Sy =

4. Answer any four of the following questions
in about 600 words each : 10x4=40

e erpTes R 515 2 LooB! Wi *9a
fSose Tel 9 ¢

(a) Explain the different sources of risk in
business.

JENTS [oim s RfSs Sz i 41 |
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(b) Describe various needs of insurance.

e RBfon SieiTorsz St 4 |

(c) Discuss certain impact of globalisation

In Insurance sector.

I AeF CFIS (ST IR0 Ao[d [Fgaw
S 11 |

(d) Define insurance. Discuss different

types of insurance. 2+8=10
T wgeel Tl | e aiea TR Ra o
4 |

(e) Critically examine various factor
affecting risk. From where these
information of risk is obtained ?

8+2=10

Rom SIS efek cofceTal Rifew SAMITTIZ
Wﬁzﬂmwwﬂi@mﬁ%w\w
W] T 2| e I 2d?

(f) ‘Discuss the power and functions of
IRDA.

IRDA-J F50] OE FEet] SCena 4 |
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(g) Elaborate various steps of risk

management.
o S PAfRpIER [Afeq AmCFoiTR %6013
fan

(h) Describe different principles  of
insurance contract.’

I pies Jfen Tifssrr wiesat i |

(i) Write a note on Regulatory Framework
of Insurance.

I Fazem) #f = siome el JB (ot &7l |

'0') - What is risk ? How risk is determined
in life insurance _? Discuss. 2+8=10

Rom sl {52 Siaw e [Rei S (S
Rfa == =3 Al 9 |
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